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14 x 3.14 = 43.96( cm)
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>
> HEH 254.34cm?
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(28] Wol)=(FA2)x (HA8)x3.14
9x 9 x3.14 = 254.34 cm?
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113.04 + 3.14 = 2 = 18(cm)
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[> HEeh: 471cm

75x2%3.14 = 15x 3.14 = 47.1( cm)
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‘ 15.7x 2+ 3.14 = 10( cm)

10cm

ul
KO

>




150.72 cm?

Si=

>

o o)z

(

12><12><3.14><%

150.72( cm?)




9.  ¥F71100.48cm¢<l Yol AHUrLh o] 2
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> HEehl 141.3cm?

B

=

HHZ]E = 94.2 = (3.14x 2) = 15cm

o] Wol=15x 15 x 3.14 = 706.5( cm?)
wetA 554 F A T stue] HWole=
706.5 + 5 = 141.3(cm?)
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(E8)=(¥=F)+ox 2 = 200
(15x2x3.14) + 0x 2 = 200
Ox2=200-94.2

O= 1058 +2

0 = 52.9(m)
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10 x 2 x 3.14 = 62.8( cm)

12.56 cm® SESIg o872

S8 H9 4t 62.8 + 12.56 = 5(71) AU Th
uheba] ozt o] o] 52 FoZtg Yyt




13. WA Eol 45em o 2HAE Aoz 58t =2RSUH.

=3 A= 2 emGY71?
» = cm

> ®EHD 1413cm
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& HH =9 A=

(HFA] S )x2 x 3.14 = 45 x 2 x 3.14 = 282.6( cm)
o|BE sHH =7 A=

282.6 x 5 = 1413(cm) @Y},




14. [ gkl

|

o7 58 FokA 2.

T2 50] 12em Q1 ¥ @eF A5l 16cmSl ¥ @7F A5UTh
A @ Hol= 9 @] Wolkth  Jem? W&t

(Y @2] Hol)=12x 12 x 3.14 = 452.16 cm?

(2 @2 Yol)= 8 x 8 x 3.14 = 200.96 cm?

weba] A @7F ¥ @ETF 452.16 — 200.96 = 251.2cm? B W&
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1
@] Hol : 8x8x3.14x ;= 50.24(cm?)

@9 Hol 1 4x4x3.14% }1 = 12.56( cm?)

50.24 + 12.56 = 4(*)
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© 1.1 @ 1.21 HH ® 1.44
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Ao H 2] & 10]2HL oHH,

(F9] gol)=1x1x3.14 = 3.14(cm?)

A O] FAA L nE R YU

e AR 9] Wl

2 X2 x % = 2(cm?) Yt}

3.14+2 = 1.57(dl]) wrebA Qo] Wol= HAZE Holol 1.57(Hl)
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> A 153.86cm?

Ao Hx] &= 43.96+3.14+2=7
Blo]=7x7x3.14 = 153.86( cm?)
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[ ]x[ ]x3.14 =50.24
[ ]x][ ]=50.24+3.14
|:|><|:|=16
l:’=4cm
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x[_]=12.56+3.14
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4cm
1 4x3.14 = 12.56( cm)
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